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      Mark the letter A, B, C, or D on your answer sheet to indicate the words whose underlined part differs from the other three in pronunciation in each of the following questions.

Question 1: A. child
B. chef
C. cheese
D. chance 

Question 2: A. soon
B. flood
C. pool
D. fool

     Mark the letter A, B, C, or D on your answer sheet to indicate the word that differs from the other three in the position of stress in each of the following questions.

Question 3: A. reply 

B. appear   

C. protect    
D. order

Question 4: A. difficult
 B. important
C. generous
D. negative

    Mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the following questions.

Question 5: Many of the pictures_________ from outer space are presently on display in the public library.

      A. having sent                    B. sent                           C. sending                 D. were sent

Question 6: English is thought to be________ to learn than Math.

     A. harder 
   B. the more hard
 C. hardest
 D. the hardest

Question 7: The educational seminar will begin ______.



A. when all the teachers were arriving
B. as soon as all the teachers arrive

C. by the time all the teachers arrived
D. after all the teachers had arrived
Question 8: Many people are not aware _________ the problem of overpopulation.


A. for         

 B. of           

C. at     

D. in

Question 9: She loves him very much,______?


A. does he
B. doesn’t he 
C. does she

D. doesn’t she

Question 10: It was______ best film I had ever read.


A. the
   B. an

C. a


D. no article

Question 11: During rush hours, the traffic is usually___________ and cars are closing up behind each other.



A. light
B. heavy
C. substantial

D. enormous

Question 12 We had to ______ the family holiday until next month because of the expensive airfare.

A. call off

B. turn down
C. put back

D. take off

Question 13: Although she was tired, she agreed _____________ me a hand with the clean up.


A. giving


B. gave


C. to give

D. given
Question 14 When his parents are away, his oldest brother _________.
     A. knocks it off
B. is in the same boat 

C. draws the line 
D. calls the shots 

Question 15: We____________  for going home when it began to rain.

A. were preparing

B. are preparing

C. will be preparing

D. have prepared

Question 16: I found the information for the project in the encyclopedia but I couldn’t give_____ and verse on it.

A. chapter


B. unit



C. poem


D. extract

Question 17: Daisy hopes her essay on the generation gap ______ a high score by her teacher.

A. gives
B. will give
C. was giving 
D. will be given
Question 18: Her _________ has declined since her return from exile two years ago.
A. popularity                   B. popularly                     C. popularize            D. popular

Question 19: Last year the business went__________ up after sales continued to fall.

A. stomach
B. tummy
C. belly

D. gut

Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that best completes each of the following exchanges.

Question 20: : Margaret is talking to Henry in the classroom.

- Margaret: "Could you open the window for me, please?" 


- Henry: "_________." 

     A. Yes, I can            
B. I am, of course        
C. I feel sorry          
D. Yes, with pleasure 

Question 21: Mike and Lien, two lecturers, are talking about ChatGPT.

- Mike: “I think ChatGPT should be banned at school.”

- Lien: “______. With the right approach, it can be an effective teaching tool.”


A. That’s for sure
B. I don’t think so
C. You’re right
D. It’s true
Mark the letter A, B, C, or D on your answer sheet to indicate the word(s) OPPOSITE in meaning to the underlined word(s) in each of the following questions.

Question 22: As a brilliant and mature student Marie harboured the dream of a scientific career which was impossible for a woman at that time.

A. kept
B. had

C. abandoned
D. deleted

Question 23: He’s a little slow on the uptake. As a result, he needs to record what the teacher said at school and listen for several times at times.


A. hear things easily



B. hard of hearing


C. understand things easily


D. understand things with difficulty

Mark the letter A, B, C, or D on your answer sheet to indicate the word(s) CLOSEST in meaning to the underlined word(s) in each of the following questions.

Question 24: Laura spotted many careless grammatical mistakes with her essay after having it looked at by her teammate.


A. avoided
B. noticed
C. made
D. expressed

Question 25: Online reading is thought to prevent us from obtaining a real insight into the contents we are reading.


A. attitude
B. experience
C. understanding
D. status

Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that is closest in meaning to each of the following questions.

Question 26: It is compulsory for Lisa to come home before curfew.


A. Lisa needn’t come home before curfew.
B. Lisa shouldn’t come home before curfew.


C. Lisa must come home before curfew. 
D. Lisa may come home before curfew.

Question 27: The last time I met my best friend was four years ago.


A. I met my best friend for four years. 



B. I didn’t meet my best friend for four years.


C. I haven’t met my best friend for four years. 



D. I have met my best friend for four years.

Question 28: “What are you going to do next summer?" she asked.

     A. She asked us what we were going to do the following summer.

     B. She asked us what I was going to do the following summer.

     C. She asked us what were we going to do the following summer.

     D. She asked us what we was going to do the following summer.
Mark the letter A, B, C or D on your answer sheet to indicate the underlined part that needs correction in each of the following questions.

Question 29:  The tanginess of the wine compliments the meatiness of the dish perfectly .


  A
             B
                          C
                          D

Question 30:  When she will go to university next year, her mother will buy her a new house.

                              
   A              B                                                               C       D

Question 31: Tom’s jokes are inappropriate but we have to put up with it just because he’s the boss.






A



        B
        C

    D

Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that best combines each pair of sentences in the following questions.

Question 32: She helped us a lot with our project. We couldn't continue without her.

A. Unless we had her contribution, we could continue with the project.

B. But for her contribution, we could have continued with the project.

C. If she hadn't contributed positively, we couldn't have continued with the project.

D. Provided her contribution wouldn't come, we couldn't continue with the project.

Question 33: Hanna had just been crowned in a beauty contest. The images of her hitting her classmate were leaked on the Internet.

A. Had the images of her hitting her classmate not been leaked on the Internet, Hanna would have been crowned in a beauty contest.

B. No sooner had Hanna been crowned in a beauty contest than the images of her hitting her classmate were leaked on the Internet.

C. Only after the images of her hitting her classmate had been leaked on the Internet was Hanna crowned in the beauty contest.

D. Not until the images of her hitting her classmate had been leaked on the Internet was Hanna crowned in the beauty contest.


Read the following passage and mark the letter A, B, C or D on your answer sheet to indicate the correct word or phrase that best fits each of the numbered blanks.

Technology: The New Addiction?


The average child (34) ______ enters junior high school is usually very familiar with electronic devices and spends a lot of time on iPads or tablets whenever they get the chance. A new survey seems to confirm how addictive modern technology can be for young people, with over 50 percent admitting that they use their devices too much. Nearly half of the parents in the survey also said they believed their children showed signs of being addicted and a similar number said their children always (35) ______ to the screen had been the cause of disputes.


(36) ______, it does not only affect children, as addiction to technology can happen to anyone. Some are even calling it the new 21st century addiction. Even though Internet addiction is considered a public health threat in (37) ______ countries, it is not yet a recognised disorder in the United States. The big question for parents and educators is therefore how to (38) ______ youngsters’ gadget use in order to prevent addiction.

(Adapted from Michigan State University CELC)

Question 34: A. whom
B. who
C. which
D. where

Question 35: A. stuck
B. glued
C. attached
D. hooked

Question 36: A. Therefore
B. Otherwise
C. However
D. Although

Question 37: A. much
B. every
C. other
D. another

Question 38: A. enhance
B. manage
C. access
D. accept

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the following questions.

Ever since 1932, Black Friday has signaled the beginning of the Christmas shopping season in the United States. This shopping extravaganza follows Thanksgiving, on the fourth Thursday of November, and comes just before ‘Cyber Monday’. Use of the name ‘Black Friday’ was first recorded as coming from Philadelphia, where it was used to describe heavy, disruptive vehicle and pedestrian traffic the day after Thanksgiving. Apparently, loads of people would go into town on the Friday after Turkey Day, before the yearly Army/Navy football game on Saturday; stores would take advantage of all the extra business by promoting big sales.

As ‘Black Friday’ became more popular in the early eighties, one “explanation” for the event became that this day represented the point in the year when retailers begin to make a profit, going from being "in the red" (meaning to be in debt) to "in the black" (meaning to be free of debt).
Black Friday is not an official holiday in the United States, but in some states government employees are given the day off. Schools and non-retail employees are normally given Thanksgiving Thursday and Black Friday as public holidays.

Most major retailers offer promotional sales with big discounts, and it has been the busiest shopping day every year since 2005. In 2014, sales revenues for Black Friday reached a whopping $11.6 billion, falling slightly to $10.4 in 2015. In 2013, overall spending from Thanksgiving Thursday up to Cyber Monday topped $56 billion!

Question 39: What is the main idea of this passage?

A. The origin of Black Friday.

B. Black Friday is a public holiday.

C. Black Friday signals the start of the Easter season.

D. Black Friday comes before Thanksgiving.

Question 40: What does the word “retailers” most closely mean?

A. A person, shop, or business that sells goods to the public

B. A person, shop, or business that sells goods to the big company only

C. A person, shop, or business that sells many kinds of goods

D. Someone who owns a store or website

Question 41: The word “it” in paragraph 1 refers to ____________

A. Thanksgiving

B. Black Friday
C. Christmas

D. Philadelphia

Question 42: Which of the following statements is TRUE according to the passage ?

A. Black Friday is a very busy day.

B. They cannot make big profit by promoting big sales

C. The term “Black Friday”  was first recorded in Philadelphia.

D. Black Friday hasn’t been so popular nowadays. 

Question 43: How much did sale revenues for Black Friday reach in 2014?

A. In 2014 sale revenues for Black Friday reached more than $12 billion. 

B. In 2014 sale revenues for Black Friday reached more than $11 billion.
C. In 2014 sale revenues for Black Friday reached a whopping $12 billion.

D. In 2014 sale revenues for Black Friday reached a whopping $11.6 million.

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the following questions.


In the US, the number of stay-at-home dads nearly doubled from 1989 to 2012. But many people still find men becoming a full-time caregiver relatively odd. This caused men who make this choice to feel like the odd ones out. Even in cultures where fathers are expected to be more involved than in the past, they are still expected to be the breadwinners of the family.


The ideal father is expected to be more engaged in his children’s day-to-day lives than in the past, says Brendan Churchill, a senior lecturer in sociology at Australia's University of Melbourne. Even so, “the male breadwinner model lingers. It is reinforced daily in our culture and it also persists in our social policy frameworks, even though there’s been lots of change - our reference point is still that family of four with a male breadwinner.” he says. This cultural belief that fathers should ‘protect and provide’ can plant an insidious narrative in the heads of stay-at-home dads, even those who feel that they’re best suited to contributing to their families in their role as the primary caregiver.


The idea of the male breadwinner does harm to men and fathers, because it prevents them from being engaged or involved,” says Churchill. Some fathers have tried to tap into networks of dads, either in their friendship groups or online. But the results have been mixed. In London, Cameron and his wife did a prenatal course with several other couples. After the course finished, the chat group for the mums stayed active. The dads’ group did not. He did stay in touch with one of the fathers, he says, particularly by bonding over something not baby-related: they support the same football team.


Despite the challenges, many stay-at-home dads say they wouldn’t want it any other way. Breaking down stereotypes around stay-at-home dads isn’t just good for fathers who in that role. It’s something that can be empowering and liberating for all fathers.

(Adapted from https://www.bbc.com/)

Question 44: Which of the following can be the title for the passage?


A. Breaking Down Stereotypes: A Story of a Non-working Father


B. Fewer Stay-at-home Dads, Fewer Problems?


C. The Stigma of The Stay-at-home-dad


D. Changing Society’s Attitudes towards Stay-at-home Fathers

Question 45: The word “reinforced” in paragraph 2 can be replaced by ______.

A. bolstered
B. instilled
C. established
D. reflected

Question 46: According to paragraph 2, the male breadwinner model ______.

A. has discouraged many fathers from fulfilling their role as the primary caregiver


B. helps a lot of fathers to get more involved in their children’s everyday lives


C. reflects an idea that the father should be the one who earns money in the family.


D. has made considerable modifications to the social policy frameworks

Question 47: The word “it” in paragraph 3 refers to ______.

A. breadwinner
B. harm
C. idea
D. position

Question 48: The word “tap into” in paragraph 3 mostly means ______.

A. gaining access to

B. becoming familiar with



C. making use of

D. approving of


Question 49: Which of the following is NOT true, according to the passage?


A. Men who make up their mind to stop working and stay at home can feel like being isolated. 


B. Fathers are deterred from being engaged or involved due to the idea of the male breadwinner.


C. Becoming stay-at-home dads can give all fathers a sense of empowerment and liberation. 


D. Stay-at-home fathers are still regarded by lots of people as being quite eccentric.

Question 50: Which of the following can be inferred from the passage?


A. Stay-at-home dads will by all means be welcomed by the society in the foreseeable future.


B. Cameron does not like the father he bonded with in the prenatal course he did with his wife.


C. Enormous attempts have been made to break down stereotypes around stay-at-home dads.


D. Many fathers do not feel regretful about their decision to be a stay-at-home dad.







THE END

KEY:




ĐỀ ÔN TẬP SỐ 05

      Mark the letter A, B, C, or D on your answer sheet to indicate the words whose underlined part differs from the other three in pronunciation in each of the following questions.

Question 1: A. child
B. chef
C. cheese
D. chance 

Question 2: A. soon
B. flood
C. pool
D. fool

     Mark the letter A, B, C, or D on your answer sheet to indicate the word that differs from the other three in the position of stress in each of the following questions.

Question 3: A. reply 

B. appear   

C. protect    
D. order
Question 4: A. difficult
B. important
C. generous
D. negative

    Mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the following questions.

Question 5: Many of the pictures     from outer space are presently on display in the public library.

      A. having sent                    B. sent                           C. sending                 D. were sent

Question 6: English is thought to be________ to learn than Math.

     A. harder 
   B. the more hard
 C. hardest
 D. the hardest

Question 7: The educational seminar will begin ______.



A. when all the teachers were arriving
B. as soon as all the teachers arrive

C. by the time all the teachers arrived
D. after all the teachers had arrived
Question 8: Many people are not aware ___ the problem of overpopulation.


A. for         

 
B. of           

C. at     

D. in

Question 9: She loves him very much, ______?


A. does he
B. doesn’t he 
C. does she

D. doesn’t she
Question 10: It was______ best film I had ever read.


A. the
   B. an

C. a


D. no article

Question 11: During rush hours, the traffic is usually___________ and cars are closing up behind each other.



A. light
B. heavy
C. substantial

D. enormous

Question 12 We had to ______ the family holiday until next month because of the expensive airfare.

A. call off
B. turn down
C. put back
D. take off

Question 13: Although she was tired, she agreed _____________-me a hand with the clean up.


A. giving


B. gave

C. to give

D. given
Question 14 When his parents are away, his oldest brother _________.
     A. knocks it off
B. is in the same boat 
C. draws the line 
D. calls the shots 

Question 15: We______for going home when it began to rain.

A. were preparing

B. are preparing
C. will be preparing

D. have prepared

Question 16: I found the information for the project in the encyclopedia but I couldn’t give_____ and verse on it.

A. chapter


B. unit


C. poem

D. extract

Question 17: Daisy hopes her essay on the generation gap ______ a high score by her teacher.

A. gives
B. will give
C. was giving 
D. will be given
Question 18: Her _________ has declined since her return from exile two years ago.
A. popularity                   B. popularly                     C. popularize                   D. popular

Question 19: Last year the business went_______ up after sales continued to fall.

A. stomach


B. tummy

C. belly



D. gut

Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that best completes each of the following exchanges.

Question 20: Margaret is talking to Henry in the classroom.

- Margaret: "Could you open the window for me, please?" 


- Henry: "_________." 

     A. Yes, I can            
B. I am, of course        
C. I feel sorry          
D. Yes, with pleasure 

Question 21: Mike and Lien, two lecturers, are talking about ChatGPT.

- Mike: “I think ChatGPT should be banned at school.”

- Lien: “______. With the right approach, it can be an effective teaching tool.”


A. That’s for sure
B. I don’t think so
C. You’re right
D. It’s true
Mark the letter A, B, C, or D on your answer sheet to indicate the word(s) OPPOSITE in meaning to the underlined word(s) in each of the following questions.

Question 22: As a brilliant and mature student Marie harboured the dream of a scientific career which was impossible for a woman at that time.

A. kept
B. had

C. abandoned
D. deleted

Question 23: He’s a little slow on the uptake. As a result, he needs to record what the teacher said at school and listen for several times at times. 


A. hear things easily



B. hard of hearing


C. understand things easily


D. understand things with difficulty

Mark the letter A, B, C, or D on your answer sheet to indicate the word(s) CLOSEST in meaning to the underlined word(s) in each of the following questions.

Question 24: Laura spotted many careless grammatical mistakes with her essay after having it looked at by her teammate.


A. avoided
B. noticed
C. made
D. expressed

Question 25: Online reading is thought to prevent us from obtaining a real insight into the contents we are reading.


A. attitude
B. experience
C. understanding
D. status

Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that is closest in meaning to each of the following questions.

Question 26: It is compulsory for Lisa to come home before curfew.


A. Lisa needn’t come home before curfew.
B. Lisa shouldn’t come home before curfew.


C. Lisa must come home before curfew. 
D. Lisa may come home before curfew.

Question 27: The last time I met my best friend was four years ago.


A. I met my best friend for four years. 



B. I didn’t meet my best friend for four years.


C. I haven’t met my best friend for four years. 



D. I have met my best friend for four years.

Question 28: “What are you going to do next summer?" she asked.

     A. She asked us what we were going to do the following summer.
     B. She asked us what I was going to do the following summer.

     C. She asked us what were we going to do the following summer.

     D. She asked us what we was going to do the following summer.

Mark the letter A, B, C or D on your answer sheet to indicate the underlined part that needs correction in each of the following questions.

Question 29:  The tanginess of the wine compliments the meatiness of the dish perfectly .


  A
            B
                            C
                         D

Question 30:  When she will go to university next year, her mother will buy her a new house.

                              
   A              B                                                                 C       D

Question 31: Tom’s jokes are inappropriate but we have to put up with it just because he’s the boss.






A



        B
        C

    D

Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that best combines each pair of sentences in the following questions.

Question 32: She helped us a lot with our project. We couldn't continue without her.

A. Unless we had her contribution, we could continue with the project.

B. But for her contribution, we could have continued with the project.

C. If she hadn't contributed positively, we couldn't have continued with the project.
D. Provided her contribution wouldn't come, we couldn't continue with the project.

Question 33: Hanna had just been crowned in a beauty contest. The images of her hitting her classmate were leaked on the Internet.

A. Had the images of her hitting her classmate not been leaked on the Internet, Hanna would have been crowned in a beauty contest.

B. No sooner had Hanna been crowned in a beauty contest than the images of her hitting her classmate were leaked on the Internet.
C. Only after the images of her hitting her classmate had been leaked on the Internet was Hanna crowned in the beauty contest.

D. Not until the images of her hitting her classmate had been leaked on the Internet was Hanna crowned in the beauty contest.


Read the following passage and mark the letter A, B, C or D on your answer sheet to indicate the correct word or phrase that best fits each of the numbered blanks.

Technology: The New Addiction?


The average child (34) ______ enters junior high school is usually very familiar with electronic devices and spends a lot of time on iPads or tablets whenever they get the chance. A new survey seems to confirm how addictive modern technology can be for young people, with over 50 percent admitting that they use their devices too much. Nearly half of the parents in the survey also said they believed their children showed signs of being addicted and a similar number said their children always (35) ______ to the screen had been the cause of disputes.


(36) ______, it does not only affect children, as addiction to technology can happen to anyone. Some are even calling it the new 21st century addiction. Even though Internet addiction is considered a public health threat in (37) ______ countries, it is not yet a recognised disorder in the United States. The big question for parents and educators is therefore how to (38) ______ youngsters’ gadget use in order to prevent addiction.

(Adapted from Michigan State University CELC)

Question 34: A. whom
B. who
C. which
D. where

Question 35: A. stuck
B. glued
C. attached
D. hooked

Question 36: A. Therefore
B. Otherwise
C. However
D. Although

Question 37: A. much
B. every
C. other
D. another

Question 38: A. enhance
B. manage
C. access
D. accept

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the following questions.

Ever since 1932, Black Friday has signaled the beginning of the Christmas shopping season in the United States. This shopping extravaganza follows Thanksgiving, on the fourth Thursday of November, and comes just before ‘Cyber Monday’.
Use of the name ‘Black Friday’ was first recorded as coming from Philadelphia, where it was used to describe heavy, disruptive vehicle and pedestrian traffic the day after Thanksgiving. Apparently, loads of people would go into town on the Friday after Turkey Day, before the yearly Army/Navy football game on Saturday; stores would take advantage of all the extra business by promoting big sales.

As ‘Black Friday’ became more popular in the early eighties, one “explanation” for the event became that this day represented the point in the year when retailers begin to make a profit, going from being "in the red" (meaning to be in debt) to "in the black" (meaning to be free of debt).
Black Friday is not an official holiday in the United States, but in some states government employees are given the day off. Schools and non-retail employees are normally given Thanksgiving Thursday and Black Friday as public holidays.

Most major retailers offer promotional sales with big discounts, and it has been the busiest shopping day every year since 2005. In 2014, sales revenues for Black Friday reached a whopping $11.6 billion, falling slightly to $10.4 in 2015. In 2013, overall spending from Thanksgiving Thursday up to Cyber Monday topped $56 billion!

Question 39: What is the main idea of this passage?

A. The origin of Black Friday.

B. Black Friday is a public holiday.

C. Black Friday signals the start of the Easter season.

D. Black Friday comes before Thanksgiving.

Question 40: What does the word “retailers” most closely mean?

A. A person, shop, or business that sells goods to the public
B. A person, shop, or business that sells goods to the big company only

C. A person, shop, or business that sells many kinds of goods

D. Someone who owns a store or website

Question 41: The word “it” in paragraph 1 refers to ____________

A. Thanksgiving

B. Black Friday
C. Christmas

D. Philadelphia

Question 42: Which of the following statements is TRUE according to the passage ?

A. Black Friday is a very busy day.

B. They cannot make big profit by promoting big sales

C. The term “Black Friday”  was first recorded in Philadelphia.

D. Black Friday hasn’t been so popular nowadays. 

Question 43: How much did sale revenues for Black Friday reach in 2014?

A. In 2014 sale revenues for Black Friday reached more than $12 billion. 

B. In 2014 sale revenues for Black Friday reached more than $11 billion.
C. In 2014 sale revenues for Black Friday reached a whopping $12 billion.

D. In 2014 sale revenues for Black Friday reached a whopping $11.6 million.

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the following questions.


In the US, the number of stay-at-home dads nearly doubled from 1989 to 2012. But many people still find men becoming a full-time caregiver relatively odd. This caused men who make this choice to feel like the odd ones out. Even in cultures where fathers are expected to be more involved than in the past, they are still expected to be the breadwinners of the family.


The ideal father is expected to be more engaged in his children’s day-to-day lives than in the past, says Brendan Churchill, a senior lecturer in sociology at Australia's University of Melbourne. Even so, “the male breadwinner model lingers. It is reinforced daily in our culture and it also persists in our social policy frameworks, even though there’s been lots of change - our reference point is still that family of four with a male breadwinner.” he says. This cultural belief that fathers should ‘protect and provide’ can plant an insidious narrative in the heads of stay-at-home dads, even those who feel that they’re best suited to contributing to their families in their role as the primary caregiver.


The idea of the male breadwinner does harm to men and fathers, because it prevents them from being engaged or involved,” says Churchill. Some fathers have tried to tap into networks of dads, either in their friendship groups or online. But the results have been mixed. In London, Cameron and his wife did a prenatal course with several other couples. After the course finished, the chat group for the mums stayed active. The dads’ group did not. He did stay in touch with one of the fathers, he says, particularly by bonding over something not baby-related: they support the same football team.


Despite the challenges, many stay-at-home dads say they wouldn’t want it any other way. Breaking down stereotypes around stay-at-home dads isn’t just good for fathers who in that role. It’s something that can be empowering and liberating for all fathers.

(Adapted from https://www.bbc.com/)

Question 44: Which of the following can be the title for the passage?


A. Breaking Down Stereotypes: A Story of a Non-working Father


B. Fewer Stay-at-home Dads, Fewer Problems?


C. The Stigma of The Stay-at-home-dad

D. Changing Society’s Attitudes towards Stay-at-home Fathers

Question 45: The word “reinforced” in paragraph 2 can be replaced by ______.

A. bolstered
B. instilled
C. established
D. reflected

Question 46: According to paragraph 2, the male breadwinner model ______.

A. has discouraged many fathers from fulfilling their role as the primary caregiver


B. helps a lot of fathers to get more involved in their children’s everyday lives


C. reflects an idea that the father should be the one who earns money in the family.

D. has made considerable modifications to the social policy frameworks

Question 47: The word “it” in paragraph 3 refers to ______.

A. breadwinner
B. harm
C. idea
D. position

Question 48: The word “tap into” in paragraph 3 mostly means ______.

A. gaining access to

B. becoming familiar with



C. making use of

D. approving of


Question 49: Which of the following is NOT true, according to the passage?


A. Men who make up their mind to stop working and stay at home can feel like being isolated. 


B. Fathers are deterred from being engaged or involved due to the idea of the male breadwinner.


C. Becoming stay-at-home dads can give all fathers a sense of empowerment and liberation. 


D. Stay-at-home fathers are still regarded by lots of people as being quite eccentric.

Question 50: Which of the following can be inferred from the passage?


A. Stay-at-home dads will by all means be welcomed by the society in the foreseeable future.


B. Cameron does not like the father he bonded with in the prenatal course he did with his wife.


C. Enormous attempts have been made to break down stereotypes around stay-at-home dads.


D. Many fathers do not feel regretful about their decision to be a stay-at-home dad.






THE END
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